ENAEKATH AOIIZTIKH OAYMIMIAAA 2015
ENINEAO 2

INSTRUCTIONS TO CANDIDATES
OAHTIEZ NMPOZ TOYZ AIAFQNIZOMENOYZ

For each question, choose and circle the correct answer A, B, C, or D.

Na ka0s epwTNON, ENIAEETE KAl KUKA®WOTE TN OWOTH andavrnon A, B, I' i A.

1. A sole trader had receivables of €4.200 at 31 May 2014. During May he made cash sales of
€5.200, credit sales of €16.500 and received €18.200 from his debtors.

What was the balance of his receivables on the 1 May 2014?
A. €700

B. €5.900

C. €7.700

D. €2.500

1. 'Evag autoepyaldpevog eixe €4.200 xpewoteg Tnv 31 Maiou 2014. Katd Tnv d1GpKeEId Tou
Mdaiou €ixe NWAROEIC TOIC PETPNTOIC €5.200, NnwAnoeig ue niotwon €16.500 kai sionpa&s anod
TOUG XPEWOTEC €18.200.

Moio ATav To UNOAOINO TWV XPEWOTWV TNV 1 Mdiou 2014;
A. €700

B. €5.900

. €7.700

A. €2.500

2. The company paid to its shareholders interim and final dividend of €100.000 and €150.000
respectively.

What effect will this have on the share Capital of the company?

A It will decrease by €150.000
B it will decrease by €100.000
C It will decrease by €250.000
D It will not be affected

2. H eTaipeia €dwoe evdIAUETO KAl TEAIKO UEPIOPA OTOUS METOXOUC TIC €100.000 kal €150.000
avTioToixa

Mowg 6a ennpedocel AauTn N NPA&n To HETOXIKO KEPAAAIO TNG ETAIPEIAC;

A. Oa peiwbei kata €150.000
B Oa peiwBei kata €100.000
. ©a peiwbei katd €250.000
A

Aev Ba ennpeaocTei
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3. The following accounts are included in the trial balance of a sole trader:

Purchase returns
Drawings

Discounts received
Carriage outwards.
Discounts allowed
Accumulated depreciation

Uk wNE=

Which of the above accounts usually have a credit balance?

A.1,5and 6
B.2,5,63and 6
C.1,4and 6
D.1,3and 6

3. O1 nio KaTw Aoyapiagpoi cupnepiAauBavovTal oto IoolUyio piag enixeipnong:

1 EnioTpopEg ayopwv

. AvaAnyeig

. EKNTWOEIG €10NpaKTEEC

. MeTa®opika NnwARCEwV

. EknTwoeic nou napaxwpndnkav
. ZUCOWPEUNEVN andooBean

aouhwWN

Moiol and Toug Nio NAve AoydpiacHoUG £XoUuv ouviOwWG NICTWTIKO unoAoino;

A.1,5«ka 6
B.2,5 3kal6
MNn1,4«ka 6
A. 1,3 ka6

4, Peter is a sole trader. On 1 January 2014 he had assets of €569.400 and liabilities of
€412.840. During the year ended 31 December 2014 he put €65.000 into the business as
capital and he paid himself wages of € 800 per month. At 31 December 2014, Peter had
assets of €614.130 and liabilities of €369.770.

What is Peter’s profit for the year ended 31 December 2014?

A. €32.400
B. €23.600
C. €22.800
D. €87.800
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4, O MNeETpog eival auToepyodoToUpevoG. H enixeipnon Tou MéTpou eixe Tnv 1 Iavouapiou 2014
neplouaiaka aroixeia €569.400 kal UNoXpewoelc €412.840 .Katd Tnv dIAPKEId TOU £TOUG
nou €An&e otic 31 AekeuBpiou 2014 £Bale oTnv gnixeipnon kepaiaio €65.000 kal
gl0enpa&s o idlog oav PioBouc €800 Tov pnva. Karta tnv 31 AskepBpiou 2014 o MNETpog
gixe neplouoiaka otoixeia €614.130 kal unoxpewosic €369.770.

Moio €ival To KEPSOG Nou €iXe n enixeipnon Tou MNMETpou 1o £T0G NOU €An&e oTig 31
AskepBpiou 2014?

A. €32.400
B. €23.600
r. €22.800
A. €87.800

5. Prepayments are shown under:

Current liabilities
Non-current assets

Non-current liabilities

O nw >

Current Assets
5. MponAnpwpEég e§60wV napouciadovTal KATW Ano TNV Karnyopia:

TPEXOUTEC YNOXPEWOEIG
Mn KUKAOQOPOUV EVEPYNTIKO

MakponpOBETUEC UNOXPEWTEIC

> oowop

KukAogpopoUv evepynTIKO

6. Astra Ltd extracted the trial balance for the year ended 31 December 2014. The total of the
debits exceeded the credits by €300.

Which of the following could explain the imbalance?

A. The bank ledger account did not agree with the bank statement by a debit of €300
B. Returns inward of €150 were extracted to the debit column of the trial balance
C. Discounts received of €150 were extracted to the debit column of the trial balance

D. Sales of €300 were omitted from the sales day book
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6. H Asta AiiTed eToipace 1o Iooluylo yia To €TocC nou €Anée Tnv 31 AskepPpiou 2014. To
OUVOAO TWV XPEWOTIKWV UMOAOINWYV OPWCS NTAV NEYAAUTEPO and To GUVOAO TWV MIOTWTIKWV
katd €300.

Moio ano Ta mio Karw e§nyei Tnv diapopa?

A. To xpewoTikd undAoino Tou Aoyapliaocpou Tng Tpanelac ora BiBAia dev cUPNPwVOUTE PE TO
unoAolno oTnv Kataoraon Aoyaplacpou TnG Tpanslac Pe XpewaoTikn diapopd €300.

B. EmoTpogéc nwAncewv €150 napouaialovTal omn Xpéwaon Tou Igofuyiou
. ExnTwoeic nou gionpaxtnkav €150 napouaialovral oTn XpEwaon Tou Igoluyiou.

A. NwAnoeig afiac €300 dev £xouv nepiAngOsi aTo BIBAI0 NWANCEWV.

7. Which TWO of the following costs should be included in valuing the finish goods
of a manufacturing company?

(1) Carriage inwards for raw materials
(2) Carriage outwards

(3) Depreciation of factory plant

(4) General administrative overheads
A.land 4

B.1and 3

C.3and 4

D.2and 3

7. Moia AYO anod Ta nio KATw KOoTnN 0a npénel va cupnepiAn@OoUV oTn anoTipnon
TWV TEAIKOV NPOIiOVTOV HIAG HETANOINTIKAG ETAIPEIAG;

(1) MeTagopika yia NPWTEG UAEG

(2) MeTagopikd NWARCEWV

(3) AnooBeon eykaTaoTACEWV EPYOOTACIOU
(4) Tevika £€€0da JIOIKNOEWG

A. 1kal 4

B.1kal 3

I 3 ka4

A. 2 kal 3
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8. The following transactions relate to Andrew’s electricity expense ledger account for the
year ended 31 December 2014:

€
Prepayment brought forward 550
Cash paid 5.400
Accrual carried forward 650

What amount should be charged to the statement of profit or loss in the year
ended 31 December 2014 for electricity?

A. €6.600

B €5.500

C. €5.400

D €5.300

8. O1 akOAoubec ouvaAAayEg oxeTilovTal JE ToV Aoyaplaopo NAEKTPIOPOU TNG EMIXEIPNONG TOU
Avdpéa yia To £€To¢ nou €Ange Tnv 31 AskeuBpiou 2014:
€

MponAnpwHEC ano JeTa@opd NPONYOUHEVOU ETOUG 550

NANPWHPEG OE PETPNTA 5.400

OQEIAEG O HETAPOPA OTO EMOMEVO £TOC 650

Moio Nooco 6a XpewOei oTOo Aoyapiaocpuo kepdolnMI®V yia To £ToG Nou €An&e oTig 31
AskepBpiou 2014 600V apopa Tov NAEKTPIOHO;

A. €6.600
B. €5.500
. €5.400
A. €5.300

9. A company receives rent from a large nhumber of properties. The total amount received in
the year ended 31 December 2014 was €581.200.

The following were the amounts of rent in advance and in arrears at 31 December 2014 and

2013:
31 December 2014 31 December 2013
€ €
Rent received in advance 18.700 11.200
Rent in arrears (all subsequently received) 31.200 8.400

What amount of rental income should appear in the company’s income statement
for the year ended 31 December 2014?

A.  €596.500
B. €621.500
C. €575.900
D. €564.500
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9. ETvaipeia sionpatTel evoikia and peyaAlo apibuo akiviTwyv. To oUvolo Twv €10Npa&ewv Tou
£TOUC nou €An&e oTic 31 AekeuBpiou 2014 fTav €581.200.

Ta noocd Twv NMPokKaTaBoA®V Kal TwV OPEINOUEVWV NMOCWV €VOIKIWV KaTa Tnv 31 AskeuBpiou
2014 ka1 2013 ATav WG akoAoUBwG.

31 AskepBpiou 2014 31 AskepBpiou 2013
€ €
Mposionpda&eic evoikiwv 18.700 11.200
OpeI\bpEva €IoNIpaKTEA EVOiKIa
(elonpaxTnkav PeTayeveoTEPQ) 31.200 8.400

Moio €ival To Nnooo nou 6a napouociadeTdl wg £I000NHaA anod evoikia oTnv kKaraoraon
guVvoAIK®V £003wVv TNG ETaipeiag oTig 31 AskeupBpiou 2014?

A.  €596.500
B. €621.500
. €575.900
A.  €564.500

10. Which of the following statements are TRUE for limited liability companies?
(1) A company continues to exist regardless of the identity of its owners
(2) The company’s exposure to debts and liabilities is limited
(3) Financial statements must be produced every year
A. 1 and 2 only
B. 1 and 3 only
C. 2 and 3 only
D. All of the above

10 Moieg ano TiG nio Katw dnAwoeig eival AAHOEIZ yia TIG ETAIPEIEG NEPIOPICHEVNG
guolvng;

(1) H eTaipeia ouveyilel va unapxel aveEapTnTa ano To noiol gival ol I0I0KTATEG
(2) H €kBeon Tng eTaipeiac oTov NIOTWTIKO KivOUVO Kal UNOXPEWTEIG €ival NEPIOPICUEVN

(3) H eTaipeia npénel va €Toldalel 0OIKOVOUIKEG KATAOTACEIG KABE XpOvo

A. 1 ka1 2 yévo
B. 1 kar 3 yovo
. 2 kai 3 govo

A. 'OAa Ta nio navw
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11. On 1 January 2015 Nicolas’ payables control account had a balance of €13.200. During the
month the following transactions occurred:

Payments to suppliers €2.500

Cash purchases €800

Purchases on credit €3.300

Returns outwards of credit purchases €750

The payables control account balance as at 31 January 2015 is:
A. €13.250

B. €13.300

C. €13.550

D. €14.000

11. Tnv 1 Iavouapiou 2015 o NikoAag €ixe €13.200 moTwWTES. KaTd Tnv didpKeia Tou priva €kave
TIG MO KATW OUVAAAQYEG:

NANPpwWHEG o€ NpounBeuTEG €2.500

Ayopéc ToIg HeTpnTOIG €800

Ayopéc pe niotwon €3.300

EnmioTpogéc ayopwv nou €yivav Ue niotwon €750

To unoAoino Towv NICTOTOWV kata Tnv 31 Iavouapiou 2015 ATav:

A.  €13.250
B. €13.300
. €13.550
A.  €14.000

12. Net Assets are:
A.  Total Assets less Non-Current Liabilities
B. Non-Current Assets plus Working Capital plus Non-Current Liabilities
C. Non-Current Assets Less Working Capital less Non-Current Liabilities
D. Non-Current Assets plus Working capital less Non-Current Liabilities

12. Ta kaBapa nepiouciaka oTolixeia givai:

A. ZUvolo lMeploudiak®yv ZToIXEiwv HeEiov Mn TpEXoOUTEC YNOXPEWOTEICG

B. Mn KukAogopouUvTa nepiouciaka otoixeia nAgov KepdaAaio kivnong nAgéov Mn
TpEXouoeg YNOXPEWOTEIG

. Mn KukAogpopoUvTa nepiouciakda oToixeia Heiov kepalaio Kivnong Heiov Mn TpEXOUOEG
YNOXPEWOTEIG

A.  Mn KukAogopoUvTa neploudiakd atoixeia nA€ov KepaAaio Kivnong Heiov Mn TpEXOUOEG
YNOXPEWOTEIG
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13 The finance department of the company prepared the company’s statement of profit or loss
for the year ended 31 December 2014. It was found that €16.000 paid for the purchase of a
motor van had been debited to the motor expenses account. It is the company’s policy to
depreciate motor vans at 25% per year on the straight line basis, with a FULL year’s charge
in the year of acquisition.

What would be the impact on the company’s profit after the correction of the

error?

A. Increase by €4.000

B Decrease by € 12.000
C. Increase by €16.000
D Increase by €12.000

13 To 0IKOVOMIKO TUAMA TNG €TAIPEIAG KATA TNV £TOINACIA TWV OIKOVOUIKWV KATACTACEWVY YId TO
£T0G nou €Ange Tnv 31 AskeuBpiou 2014 avakdAuywe oTI Noco €16.000 nou NANpwONKE yia
TNV ayopd evog popTnyou Xpewdnke ota £€0da oxnudaTtwyv. H NOAITIKN TNG €Talpeiag sival va
anooBeével Ta @opTNyd PE NoGooTo 25% TO £T0C e Bdon Tnv oTabepry HEB0DO andoBeong Kal
va unoAoyilel anooBeon yia OAOKAHPO T0 £T0C, 0TO £TOG ayopdc.

Moia Oa €ival n enidpaon oTo KEPSOG TNG ETAIPEIAG HETA TNV 310pOwaON Tou AdBoug;

A. AUEnon katd € 4.000

B. Meiwon kata € 12.000
r. AUEnon kaTda € 16.000
A. AUEnon katd € 12.000

14. Antony, a sole trader, has the following information at the start and end of the year 2014

At 1 At 31
January December
2014 2014
€ €

Fixed assets (net book value) 42.000 39.400
Stock 20.900 16.600
Trade debtors 7.400 10.500
Trade creditors 8.500 10.200
Cash in hand 6.400 6.600

During 2014 Antony introduced €3.600 capital. He took stock for his own use that cost
€1.000 and paid salary to himself €700 per month.

What is Antony’s profit or loss for 2014?

A. €11.100 profit
B €500 Profit

C. €500 Loss

D €3.400 profit
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14. Oi nmio kGTw NAnpoPopiec oxeTilovTal HE TNV EMIXEIPNON Tou auTogpyodoToUPEVOU AvTwvn.
oTnV apxn Kal oTo TEAOC Tou £€Touc 2014

Kara tnv 1 Kara tnv 31
Iavouapiou AekeuBpiou
2014 2014
€ €

MNayia oToixeia evepynTikoU
(kaBapn AoyioTikn a&ia) 42.000 39.400
Ano6¢parta 20.900 16.600
Eunopikoi XpewaoTeg 7.400 10.500
Eunopikoi NioTwTEG 8.500 10.200
MeTpnTd oTO TAMEIO 6.400 6.600

KaTda T1o €106 2014 0 AvTwvng kKatabeoe kepdaAalo oTtnv eTaipeia €3.600 . Mnpe eniong
gunopelpaTa nou gixav k6oTog €1.000 yia npoownikh Xprnon Kal eionpa&s and Tnv eraipeia
€700 Tov uynva oav piodo.

Moio €ival To k€pdog n {nHia Tou Avtwvn 10 £€10G 20142

A. €11.100 k&pdoc

B. €500 k€pdog

. €500 Cnuia

A. €3.400 k£pdoC

15. Mary and Elli are in partnership. They share profits and losses equally after charging a salary
of €20.000 per year for Mary and interest on capital at 4% per year.

At 1 January 2014 their capital balances were:

€
Mary 250.000
Elli 150.000

On 1 July 2014 Elli introduced a further € 50.000 capital, and Mary’s salary was
discontinued.

The partnership’s profit for the year ended 31 December 2014 was €430.500.
What was Mary’s total profit share for the year ended 31 December 2014?

A. €201.750
B. € 203.250
C. €197.250
D. € 196.250
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15. H Mapia kai n EAAn €ival cuveTaipol. MoipalovTal Ta KEPON Kal TiIG {NUIEG eEioou, HETA TNV
apaipeon eTriolou YIgBou €20.000 yia TV Mapia kal JETA TNV napaxwpnaon Tokou 4%
£TNOIWG NAVW OTA KEPAAQIQ TWV HETOXWV.

Katda Tnv 1 Iavouapiou 2014 Ta unoAoina Twv Aoyapiacywv KEQAAGiou TWV CUVETAipwV nTav
Ta akdAouba:

€
Mapia 250.000
'EAAN 150.000

Tnv 1 IouAiou 2014 n 'EAAN kaTEéRaAe npoobeTo kepdaAaio Uwoug €50.000 kai n Mapia
oTapATNoE va naipvel Pigoo.

To KEpOOC TOU CUVETAIPIOUOU Yia To £T0C nou €An&e Tnv 31 AekeuBpiou 2014 nrav €430.500

Moio €ival To ouvoAIkO pEPIdIO kKEPDouG TNG Mapiag yia To €Tog nou €An&e Tnv 31
AexkeuBpiou 2014;

A. €201.750
B. € 203.250
. €197.250
A. €196.250

16. Your business bought a motor van for €10.000 in June 2012. In September 2014 you gave
the motor van in part exchange for a new one costing € 20.500. The agreed trade in value
for the old motor van was €5,500. Your policy is to depreciate ALL motor vans over five
years on a straight line basis with FULL year’s depreciation in the year of purchase and NO
depreciation in the year of disposal.

What will be the impact on the profit of your business for the year 2014 as a result
of the above transaction?

A. Decrease by € 500
B. Decrease by € 3.600
C. Decrease by € 4.600

D. Decrease by € 4.100
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16. H enixeipnon oou Tov IoUvio Tou 2012 ayopaoce €va popTnyo a&iac € 10.000. Tov ZenTEPBplo
2014 avtaila€ec To popTnNyO HE £va kalvoupylo a&iag €20.500. H a&ia avraAAayng 1o
naAdaiou gopTtnyou ATav €5.500 . H noAITikiy oou €ival va anooBeveig OAA Ta popTnya os
nevre xpovia Pe Baon Tnv otabepr pEBodo, unoAoyilovrac anocBeon yia OAOKAHPO To
£T0G, 0TO £T0C ayopdc kai MHAEN anooBeon oTto £€10C d1a6£0NnC.

Moia Oa €ival n enidpaocn TnNG Nio Nnavw cuvaAAayng oTo KEPSOG TNG ENIXEipNONG ocou
TO 2014.

A Ba peiwBei kata € 500
B. Oa peiwbei katd € 3.600
r. Oa peiwbei kaTa € 4.600

A. Oa peiwbei kaTa € 4.100

17. A trader took goods that have a selling price of €2.400 from his stock/inventory for personal
use. The trader’s policy is to sell goods with a mark-up of 50%.

Which of the following journal entries would correctly record the above
transaction?

Debit Credit
€ €

A. Drawings 2.400
Purchases 2.400

B. Drawings 1.600
Purchases 1.600

C. Drawings 1.200
Purchases 1.200

D. Purchases 1.600
Drawings 1.600

17. 'Evac autoepyaldpevog EUnopac Nnpe egnopevpata and Ta anobépara nou diaTnpoUoE HE
a&ia noAnong €2.400 yia npoownikn Xpnon. H TigoAoyiakn NOAITIKN ToU £Unopa ival va €xel
50% k&PDOC €Ni TOU KOOTOUG ayopdc TWV EUNOPEUUATWV.

Mola ano TI¢ Nio KATW €YYPAPEG KATAXWPEI OwOTA TNV Mo NAvw cuvaAAayr.

Xpéwon MioTtwon
€ €

A. Avainyelg 2.400

Ayopég 2.400
B. AvaAnuyeig 1.600

AyopEg 1.600
. AvaAnyeig 1.200

AyopEg 1.200
A. AyopEg 1.600

AvaAnyeig 1.600

11| Page



18. Nikon plc. purchased a machine for €124.000 on 1 September 2014. The estimated useful
life is 4 years with a residual value of €4.000. Nicon plc. uses the straight line method for
depreciation and charges depreciation on a monthly basis.

The charge for depreciation in the income statement for the year ended 31 December 2014

was:
A. €31.000
B. €10.000
C. €7.500
D. €7.750

18. H Nikon plc. ayopaoe éva pnxavnua yia €124.000 Tnv 1 ZentepBpiou 2014. H wpeAiyn Lwn
TOU PNXAVAMATOG avapeveTal va eival 4 xpovia pe €4.000 unoAsippaTikn a&ia .H Nicon plc.
xpnaoigonolei Tnv otabepn pEBodo andoBeong Kal XPEWVEl TNV andoBeon og pynvaia Baon.

H Xxp€won yia anooBeon oTnv KATaoTaocn KepdolnMi®V yia £€ToG nou éAn&e Tnv 31
AekeuBpiou 2014 ATav:

A. €31.000

B €10.000
r. €7.500
A €7.750

19. The following items can be found in the financial statements of a manufacturing company
which manufactures a new product which has recently been invented by a famous scientist.

Advertising

Royalties paid to the scientist
Salesmen salaries
Depreciation of machinery
Factory rent

Stationery expenses

oOu AW

Which of the above items will NOT appear in the expenses section of the profit
and loss account of the manufacturing company?

A. 1,2and 3
B. 2,3and 4
C. 2,4and5
D. 2,4and6
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19. Ta nio kGTw oTOoIXEIQ BPioKOVTAI OTIG OIKOVOMIKEG KATAOTACEIG HIAG JETANOINTIKAG €TAIPEiAg
nou kaTaokeudalel £€va nNpoidv nou £xel NPOoPATa Ppeupebei ano €va dlAGNUO €MNICTAHOVA.

Alapnuioeig

AIKAIWPATa EUPECITEXVIAC TOU EMICTAMOVA
MioBoi Twv NWANTWV

AndoBeon pnxavnuatwyv

Evoikio epyooTaciou

'E€00A ypa@IknG UANG

S

Moia anod Ta nio navm otoixeia AEN eppavidovral ota £€503a Tou AoyapiacHou
KEPSOINHIWV TNG HETANOINTIKNAG ETAIPEIAG.

A. 1, 2 kal 3
B 2,3 ka4
r. 2,4«kal 5
A 2,4 ka6

20. The trial balance of Aston plc. a manufacturer, as at the year-end 30 April 2014 included
depreciation of delivery vehicles.

In the income statement depreciation of delivery vehicles should be included in the
heading

A. Cost of sales
B. Administrative expenses
C. Distribution costs

D. Finance cost

20. To 1o0lUylo TNG PJeTanoINTIKNC eTalpeiac Aston Plc. yia To €Tog nou €Ang&e aTic 30 AnpiAiou
2014 nepiAapBave anooBeon Twv oxNUATWV Nou XpnalgonololvTav yid TNV HETAPOPA ToV
EUNOPEUPATWV OTOUC NEAATEC.

ZTnv Kataotaon KepdolnHI®OV KATW and noia enikePalida 6a cupnepIAnPOouv ol
anooBECEIC TWV OXNHATOV

A. KooTog nwAnoewv

B. 'E€0da diaxeipiong

. 'EE0da diavoung

A. 'EE0da XpnuUaTodoTnong
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21.

21.

Which TWO of the following statements are not true?

1. Share premium is an item found in the statement of financial position /balance sheet of a
partnership
2. Cost of sales is an item not found in the manufacturing account

3. The bank overdraft account has always a debit balance

4. The rule in Garner V Murray states that, subject to any agreement to the contrary, one
partner’s deficiency is to be shared by the other partners in the ratio of their ‘last agreed
capitals’

5. In the absence of a partnership agreement, profits and losses are to be shared in
proportion to capital

A. 1and?2
B. 1and 3
C. 2 and 3
D. 4 and 5

Moieg AYO ano TiG Nio KAT®W ONAWOEIG JeV €ival OWOTEG?

1. O Aoyapiaouoc anoBepaTikoU and Tnv £€kdoon YETOXWV UMNEP TO APTIO cupnepiAauBaveral
OTOV I00AOYIONO EVOG OUVETAIpIOHOU.

2. To KOOTOG NWANCEWV OEV CUUNEPIAGUBAVETAl 0TO Aoyapiaouo BIoPNXavikng EKMETAAAEUDNG

3. O Aoyapliaouog TpanedikoU napaTpaBriyyartog/unepavainyng €xel NAVTOTE XPEWOTIKO
unoAoino.

4. O kavovag Garner V Murray opiel 0TI, EKTOG Kal av undpxel ocupg@via yia To avTibeTo, To
EAAEIYPA €VOG OUVETAIPOU KATAVEWETAI OTOUGC AAAOUC GUVETAIpPOUG KATA avaAoyia Tou
TEAEUTAIOU CUMPWVNBEVTOC KEPaAaiou.

5. 3TNV nepinTwaon nou dgv UNAPXEl OXETIKN CUMPWVia HETAEU TwV CUVETAIpWY O €va
OUVETAIPIOPO Ta KEPON Kal {nuieg Tou ouveTaipiohoU polpalovTal KATd avaloyia Twv
KepaAaiwv Touc.

A. 1 kar 2
B. 1 kar 3
r. 2 kai 3
A, 4 kal 5
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22. Andy and Vassog are in partnership, sharing profits equally. On 30 June 2014, Costas joined
the partnership and it was agreed that from that date all three partners should share profits
equally.

At the year ended 31 December 2014 the profit amounted to €420.000, accruing evenly
over the year, after charging a bad debt of €21.000 which it was agreed should be borne
equally only by Andy and Vassoc.

What should be the partners' total profit share for the year ended 31 December

20142
Andy Costas
€ €
A. 136.500 147.000
B. 173.500 133.000
C. 176.750 66.500
D. 173.250 73.500

22. O1 Avdpéag kal Bdooog eival ouveTaipol kail goipalovral Ta kEpdn €&iocou. Tnv 30 Iouviou
2014, o KwoTag YNAKE OTOV CUVETAIPIONO Kal CUPPWVNRONKE ONwc OAoI 01 oUVETAIpol anod
TNV NUEpounVvia auTn va poipalovTtal Ta KEpdn e&ioou.

MNa To £€1o¢ nou éAn&e 31 AekeuBpiou 2014 Ta kKEPON TOU CUVETAIpIOPOU nTav €420.000 kal
enipepiovTal e€icou kaTa Tnv OIAPKEIA TOU XPOVOU, UETA TNV aPaipeon eNCQAiwV
XPEWOTWYV UWouc €21.000 nou cuppwvnOnke va eniBapuvouv €Eicou Toug AvdpEa Kal
Baooo.

Moio Oa €ival To CUVOAIKO HEPiIGIO TV CUVETAIpWV yia To £€ToG nou €An&e Tnv 31
AekeuBpiou 2014;

Avdpéag KwmoTag
€ €
A. 136.500 147.000
B. 173.500 133.000
r. 176.750 66.500
A. 173.250 73.500
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23.

23.

24.

At 31 December 2013 a company’s allowance for receivables was €19.000. At 31 December
2014 trade receivables totalled €507.000. It was decided to write off debts totalling €27.000
and to adjust the allowance for receivables to the equivalent of 5% of the trade receivables
based on past events.

What figure should appear in the income statement for the year ended 31
December 2014 for receivables expense?

A.  €52.100
B €46.000
C. €32.000
D €27.000

Tnv 31 AekepBpiou 2013 n npoBAewWn TNG €TAIPEIAC YIa ENIOCPAAEIC anaITAOEIC avepXOTAV OTO
noocd Twv €19.000. Tnv 31 AskeuBpiou 2014 ol €PnopIKEG aANAITHOEIG AVEPXOVTAV OF
€507.000. AnogaoioTnke onwc diaypagouv anaiTnoeic Uypouc €27.000 kal avanpooapUoOoTEi
n NpoBAewn via eno@aleic anaiTnoelig o 5% Twv EYNOPIKWV ANAITHOEWY HE BACN YEYovoTd
Tou napeABovToc.

T nood Oa npénel va napouocidleTal WG £§000 yia ANOHEI®ON ENICPAA®V
anaiTAOE®WV oTNV Katadoraon kepdodnuiov Tnv 31 AskeupBpiouv 20142

A. €52.100
B. €46.000
. €32.000
A €27.000

Paul and Nicolas are in partnership together sharing profits in the ratio 2:1 equally. They
invested €10.000 and €20.000 respectively in the partnership, although Paul later made a
loan of €4.000 to the partnership.

The loan is still outstanding. Interest is charged on capital and loans at 5% p.a. and is
credited to current accounts. The balances on the partners' current accounts at 1 January
2014 were €15.500 for Paul and €12.700 for Nicolas. The partnership made a profit of
€42.350 for the year ending 31 December 2014, before accruing for any interest on
partners’ capital and loans.

What is the balance on the partners' current accounts at 31 December 2014?

Paul Nicolas
€42.600 €26.250
€43.800 €26.750
€44.433 €44.433
€43.300 €27.250

o nw>
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24. O MNauAocg kal o NIkOAag ival ouvéTaipol nou enipepifovTal Ta KEPON os avaloyia 2:1. 'Exouv
enevouoesl €10.000 kar €20.000 avTioToixa, evw O MNAUAOG METAYEVEOTEPA €0WOE AKOWN
€4.000 wc daveio OTOV CUVETAIPIOHO.

To davelo dev £xel akOUn €E0PANnBei. YnoAoyileTal TOKOC WE €TrO10 €NITOKIO 5% €Trola TOOO
oTa nood Tou KepaAgiou 000 Kkal oTto OAdveIo KAl MIOTWVETAI OTOUG TPEXOUUEVOUG
Aoyaplacpouc.

Ta undAoina Twv TpeXOUHEVWV Aoyadplacuwy Twv ouveTadipwv Tnv Iavouapiou 2014 nrtav
€15.500 yia Tov MauAo kair €12.700 yia Tov NikdAa. O ouveTalpiopydg npaypaTonoinos
kEPOOC €42.350 yia To £70¢ nou €An&e oTic 31 AskepuBpiou 2014, npiv TOUG TOKOUC NAVW OTO
KepAaAalo kal dAveio TWV CUVETAIpWV.

Moio €ivalr To unoOAoINO TWV TPEXOUHEVWV AOYdpIaOH®V TWV CUVETdipwv oTiG 31
AskepBpiou 2014?

MauAog NikoAag

€42.600 €26.250
€43.800 €26.750
€44.433 €44.433
€43.300 €27.250

> oow o

25. Stelios, Petros and Alekos are in partnership, preparing financial statements as at 31 August
each year and sharing profits 4:3:1. Stelios retired on 30 April 2014, and Petros and Alekos
continued, sharing profits 3:1 respectively.

Goodwill as at 30 April 2014 (not to be retained in the accounts) was valued at €50.000.

The net entry to Petros’ capital account to include and then eliminate goodwill is:

A. Debit €6.250
B. Debit €18.750
C. Credit €6.250
D. Credit €18.750

25. 01 >T1éhiog, METpoc kalr AAEKOC €ival ouveéTaipol kal €rolgalouv Aoyapiacyoug oTig 31
AuyoUoTou kdabe €Touc e avaloyia képdoug 4:3:1. O ZTéAIog anoxwpnoe oTic 30 AnpiAiou
2014, kai o1 METpoc kal AAEKOC ouveExioav e avaAoyia 3:1 avTioToixa.

To nood TN PAMNG kal neAateiag aTic 30 AnpiAiou 2014 (nou dev avayvwpileTal ota BiBAia)
unoAoyioTnke oTo nood Twv €50.000.

H kaBapn eyypa@n avayvmpiong kai HeTa diaypa@ng TnG PAKMNG Kal neAareiag orto
Aoyapiaocpo kepaAaiou Tou MNETpouU givai:

A. Xpewon €6.250

B Xpewon €18.750

r. MioTwon €6.250

A. Niotwon €18.750
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